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1) 
 

 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

 

    RDA 
 
 

 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 
 

    Spelled‐out word “active” in the $d  
 
 
 

 If it is an RDA record, which RDA instruction(s) support(s) the authorized 
access point? 

 

    RDA 9.3.4.3 and LCPS 
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2)  
 

 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

 

    It could be either except for one thing (see below): 
 

 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 
 

    The 7XX linking field to the RDA form  
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3) 
 

 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

 

    AACR2 
 
   

 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 
 
 

Abbreviation “b.” in the 1xx and 4xx $d – RDA 9.3.2.3 would spell 
out the word “born”; LCPS 9.3.2.3 instructs the use of a hyphen 
over the spelled out “born” 
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4) 
 

 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

     
    RDA 
     

 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 
 

    Use of $c (Researcher in management) in the 1xx 
 
 
 

 If it is an RDA record, which RDA instruction(s) support(s) the authorized 
access point? 

   
RDA 9.16 (Profession or Occupation) and RDA 9.19.1.6 
(Additions to the Authorized Access Point) 
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5) 
 

 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

     
    AACR2 
 

 
 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 

 
 

Use of $c for a degree in the 1xx to break a conflict – RDA does 
not permit this 
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6) 
 

 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

     
    Could be either RDA or AACR2 
 

 
 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 

 

Fuller form would only be added under RDA and the applied 
LCPS in case of conflict; in AACR2 and the LCRI, fuller form 
would be added when known. Without checking for conflict 
here, it is safe to say that the 1xx could be either AACR2 or 
RDA. The addition of the 046 and 3xx fields is permitted in 
both AACR2 authority records as well as in RDA authority 
records.   
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7) 
 

 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

     
    Could be either RDA or AACR2 
 
 

 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 
 
 

RDA recognizes the existence of undifferentiated personal 
name authority records (RDA 8.11). Although there are some 
elements in this record that might be used to make some of 
the persons represented in the record unique under RDA, this 
record as it stands now could be either AACR2 or RDA.  
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8) 
 

 
 

Assume conflict with Rose, Edward J. 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

     
    Given the conflict situation, it could be either RDA or AACR2 
 

 
 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 

 
 

RDA 9.2.2.9.5 considers words (e.g., Jr., Sr., fils, père) and 
numbers (e.g., III) indicating relationship as part of the 
preferred name—added in the absence of conflict. AACR2 
would only add the term in the case of conflict.    
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9) 
 

 
 

Assume no conflict 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

     
    In the absence of conflict, this can only be an RDA record  

   

 
 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 

 
     

    Inclusion of Jr. as part of the preferred name. 
 
 
 
 
 

 If it is an RDA record, which RDA instruction(s) support(s) the authorized 
access point? 

 
RDA 9.2.2.9.5 considers words (e.g., Jr., Sr., fils, père) and 
numbers (e.g., III) indicating relationship as part of the 
preferred name—added in the absence of conflict. AACR2 
would only add the term in the case of conflict.    
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10)  
 

 
 
 

 Is this an RDA authority record, an AACR2 authority record, or could it be 
either one? 

     
    RDA 
 

 If it is either RDA or AACR2, what characteristics identify it as RDA or AACR2? 
 
 

Use of RDA Appendix K Relationship Designator in the see‐also 
500 reference  

 
 
 

 If it is an RDA record, which RDA instruction(s) support(s) the authorized 
access point? 

 

    RDA Appendix K.2.1  
   
 
 
 

 
 
 


